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1 KOFERADHIH, P -2THEHDIEENTT D,
@ x+2=-5 4 3x-5=A4x
& 2x+5=7x-8 @ 3(x+2)=0



2 RoJiERT, FROMEHZ - THS % 3w,

— FAOMH
FROWAZFE CHRXZMA T, FXUTHDY 7o,
FAROMARP SR UHELREINTE, FRUIK D 7D,
SROMBIZE Uz 20T, SR Voo
LEROMBER UM THhoThH, HERIED 7o

CHCEONG

72, TOLI IS 72HEROME ZEZ % 3,
(1) x+5=-10 (2) x—9=-3

(3) —4x=12 (4) %?:—6



3 RONBAZMHEE 23
(1) 6x—15=9 (2) 2x-14=4x

(3) 8x—5=3x+15 (4) —-3x+1l=6x-7



(5) 4+y=2y—6 (6) 20—1=24+7x

(7) 9x—1=6x+2 (8) 4x—2=-x+8



4 ROFENZHE 2 E 0,
(1) 3(2x+4)=3-3x (2) 4x—-2(x—-3)=-2

(3) 03x—24=11x (4)



5 OB ZMHEX 3w,
(1) 7:2=x2:6 (2) x:(x+11)=2:13
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